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FEEES Y -
it 34 2900 (r/min) 34 1450 (r/min)
= A ZEVE DA ZEE
w5 | gn | wr | | 2E BB e | e | e | BES DR
ol wm | m | e | PR Sl em | | o | BR -
(m) v =1 (m) v =1
A 20 36 63 2.5 1 11 9 50 2.5
B 18 32 60 2.5 10 8 48 2
32-160 C 17 28 58 2.1 3 9 7 47 1.5 1.1
D 15 20 55 1.8 9 9 6 5 42 0.6
E 13 14 50 1.2 ) 6 3 36 0.6
A 20 50 52 2.7 75 10 13 48 1
B 18 48 51 2.5 ) 9 12 47 1
327200 C 16 40 49 2.5 5.5 8 10 46 1 L5
D 15 30 48 2.2 4 8 8 44 1
A 20 85 42 15 11 20 38 0.9
B 20 75 41 10 19 37 0.8
327250 C 18 65 41 1.8 11 9 15 35 0.8 2.2
D 15 50 40 1.5 7.5 8 11 33 0.7
A 30 34 63. 5 1.5 7.5 15 8 60. 5 0.5
B 28 30 62 1.5 15 7 58 0.5
407160 C 28 26 58 1.5 00 14 6 53 0.8 L1
D 24 18 52 1.3 3 12 4 43 0.8
A 34 50 60.5 2.4 11 17 13 58 1.1 1.5
B 30 48 60 7.5 15 12 57 1.1
407200 C 26 38 56 5.5 14 9 53 1.1 1.1
D 24 30 51 1.8 ’ 12 7 49 1
A 38 85 51 22 20 21 49 2.5 4
40-250 B 36 80 50 4.5 18.5 18 20 47.5 2.5 3
C 32 62 49 15 16 15 44 2.2 9 9
D 26 50 46 3] 11 13 12 40.5 1.5 )
A 46 140 51 45 23 36 46 1 7.5
40-315 B 44 130 50 37 22 32 45 1 5.5
C 40 100 46 3.5 30 20 24 45 1 4
D 34 80 44 18 18 44 1
A 55 34 74 2.9 11 28 8 71 1.6 1.5
50-160 B 50 30 72 2.8 7.5 26 7.5 69 1.5
C 46 26 70 2.8 55 26 6 63 1.5 1.1
D 40 18 68 2.6 ) 24 4 58 2
A 65 56 73 3.5 18.5 34 14 71 1.5 3
50-200 B 65 50 72 3.5 15 32 12 68 1.5 2.2
C 50 40 66 2.5 11 30 10 66 1.5 L5
D 40 32 65 1.5 7.5 24 7 64 0.8 )
A 65 85 65 3 30 34 21 60 1.1 5.5
50-250 B 60 80 63 2.8 30 20 59 1 4
C 55 65 59 2.5 22 26 16 57 3
D 45 50 58 2.2 15 24 12 54 0.9 2.2
A 80 140 61 4 75 42 35 58.5 2 11
50-315 B 75 135 59 4 55 42 32 57 2
C 70 110 57 3.5 45 40 26 55 1.8 75
D 65 85 55 3.5 37 36 20 54 1.5
A 100 32 75 2.8 15 50 8 68.5 1.5
B 90 30 73 2.5 48 7 67 1.5
65-160 C 90 24 71 2.5 11 46 6 64 1.5 2.2
D 80 15 64 2.3 7.5 38 4 56 1.4
A 100 54 74 2.8 29 50 13 74 1 4
65-200 B 90 50 73 2.5 46 12 73 0.9 3
C 90 40 72 2.5 18.5 42 10 68 0.8
D 70 30 68 11 36 7 61 0.7 2.2

REFTREHX —KERL




CP-VS4 RHISTREMBETE

FEEES Y -
it 34 2900 (r/min) 34 1450 (r/min)
= A ZEVE DA ZEE
w5 | gn | wr | | 2E BB e | e | e | BES DR
ol wm | m | e | PR Sl em | | o | BR -
(m) v =1 (m) v =1
A 115 85 71.5 3.4 45 58 21 68 0.9 7.5
65-250 B 115 75 71 3.4 50 20 67 0.8 5.5
C 100 65 70 3 37 46 16 66 0.8 4
D 80 50 68 2 30 40 12 63 0.7
A 135 135 66 5.5 90 64 32 62 1.3
B 130 125 65. 5 5 61 30 61 1.3 11
65-315 C 115 115 64 4 75 56 28 60 1.2
D 110 100 64 4 55 54 24 60 1.2
E 90 85 63 3 45 50 20 60 1.2 55
F 75 70 60 3 30 52 16 56 1.2 )
A 170 30 76 4 22 75 8 71 2.2 3
80-160 B 160 26 75.5 3.5 18.5 70 7 70 2
C 150 22 75 3 15 70 5 69 2 9 9
D 130 16 70 2.8 11 65 4 66 2
A 160 50 80 3.8 37 80 12.5 74 1.9 5.5
80-200 B 140 46 78 3.5 30 75 11 73 1.8 4
C 130 38 77 3.2 22 65 9 72 1.8 3
D 110 26 74 3 15 60 6 69 1.8
A 190 80 81 5 75 95 20 78 1.3
B 180 75 80 4.8 55 90 19 77 1.5 11
80-250 C 170 70 79 4.5 45 85 17 76 1.6
D 150 55 75 4.5 37 75 14 73 1.8 5.5
E 130 47 70 4 30 70 11 70 1.8 )
A 200 130 77 3.5 110 100 32 73 1.3
80-315 B 180 125 76 3 95 30 72 1.3 15
C 160 100 73.5 2.8 75 85 24 69 1
D 150 75 72 2.5 55 70 18 68 0.8 11
A 105 52 64 1.2
B 100 50 63 1.2 30
80-400 C 90 44 59 1.1
D 80 38 55 1
E 75 30 53 1 18.5
A 220 45 82 4 45 115 11 80 1.2 55
100-200 B 200 44 81 3.8 30 100 10 79 1.2 )
C 180 35 80 3.5 30 90 8 77 1.2 4
D 150 25 75 3.2 22 80 6 75 1
A 280 75 82 6 90 140 20 76 2 15
B 250 70 79 5.5 75 130 18 74.5 2
100-250 C 230 55 75 5 55 120 14 71 2 11
D 200 40 69 4.5 37 100 10 65 1.7
A 280 135 76 5.5 160 140 32 71 1.5 30
100-315 B 250 130 75 4.8 132 120 30 71 1.3 18.5
C 230 100 75 4 110 100 26 71 1 15
D 200 85 74 3.8 75 90 21 70 1
A 150 50 71 2 45
B 140 48 70 2
100-400 C 120 40 70 2 30
D 100 30 67 1.5 18.5
A 200 20 85 2.2 18.5
B 200 18 83 2.2 15
1257250 C 190 14 77 2.2 11
D 160 10 70 2.2
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FrfEtE RES B
it 5 2900 (r/min) 3K 1450 (r/min)
“\'EE'C—A “\'EE'\‘/:
RS | R | g | g | oAk | 2T B e g | e | 2T AL
-%‘ 3 [/Eé%i IjJ}: 3 [/E/\E IjJ}:
(m’/h) | (m) %) ( -1 (m’/h) | (m) %) -1
m) Y (m) Y
A 200 30 80 2 30
195-315 B 180 30 79 1.9
C 170 24 78 1.5 18.5
D 170 18 76 1.5 15
A 210 50 75 2 55
B 200 48 74 2 45
C 180 46 74 2 37
125-400 D 170 42 73 1.8
E 150 36 72 1.5 30
F 150 30 71 1.5
A 320 17 84 3.5 22
B 300 15 80 3.2 18.5
150-250 C 280 13 78 3.2 )
D 260 12 77 3 15
E 240 11 76 3 11
A 380 30 83 3 45
B 340 26 83 3 37
150-315 C 320 20 80 3 30
D 300 17 78 3 22
A 400 48 81 3.5 75
B 340 40 80 3.2 55
150-400 C 300 34 77 3 45
D 260 28 74 3 37
A 420 80 79 3 132
B 400 70 79 3 110
150-500 C 360 65 78 2.8
D 340 50 77 2.6 75
E 300 45 76 2.4 55
A 600 12 86 3.5 30
200-250 B 540 11 85 3.5 929
C 500 10 84 3.2
A 650 24 84 4 55
B 600 20 84 4
200-315 C 550 16 82 4 37
D 500 13 80 3.6 30
A 650 52 85 3.8 132
B 550 45 83 3.5 90
200-400 C 500 40 82 3.2 75
D 450 30 78 3 55
A 700 75 82 3 200
B 650 65 82 3 160
200-500 C 550 55 81 2.8 110
D 450 40 77 2.5 75
A 950 22 87 5 75
250-315 B 900 20 86 4.8
C 800 16 78 4.5 55
A 1000 44 84 5 160
B 900 38 82 5 132
250-400 C 850 30 80 5 110
D 800 24 78 5 90
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